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Simplify the radical.

45 When you have a negative in the square root:
\/,T \/E Split the square root into 45 and -1
i \/4_5_ ﬁ = i (the letter i is use for imaginary numbers)
|J§J§ Now simplify the V&5 just like normal

3id5 When you square root 9, the 3 goes in front of i
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Simplify the radical

EENIE

=

%I

89

2
B

When you a fraction inside the square root:
Split the fraction into 2 square roots

Since we can't leave the 7, multiply byJ7
Multiply the top and bottom.

simplify the J84. Since the fraction won't
reduce, you are done.
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Simplify the radical

When a negative is outside the square root:

B
25 Leave it alone (your answer will be negative)

Split the fraction into 2 square roots

Always simplify square roots first. Since the
fraction can't simplify any more, you are done.
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Simplify the radical
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You have a negative and fraction inside
the square oot

Split the fraction, and use the |

Multiply straight across (follow the rules)

Multiply by /A5

Multiply the top and bottor

Simplify the {TOB0

Simplify the fraction 12/45




